MATH230 . . Name

Test #3 Spring 2006 '

1. (8 points) Consider the relatlonshlp expressed in the table below//
U-'vg-w“/.'- | P ——aa—
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“ 3 18 10 - ==
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¢ 1 2 3 4 5 6

a. Plot the data points ﬁsmg the grid provided above.

b. Use the space below to explam and show how to determme a. functlonal equatlon for
the relatmnshlp between the va ues of V and U. Identify that ﬁmctl_o_nal equation.

2. (8 pomts) Consider the relationship expressed in the table below. Assume the
.,observed pattern of dlfferences contmues indefinitely.

I | 2 | 3 1. 4 5 | 6 F—3F—
~| 4 _10 20 34 | j2/7'f' |00
Complete the table by entenng the values for Co, Ce, and C7 :

Complete the following rule’ that specifies a dlfference equatlon for the relationsmp.

= AN
Co= cn_,+4h‘2«'/»/

c. Complete the following rule to spec1fy an explicit functional ,equa‘tio‘n’lfor this

relationship. 2 .
- Co=_A N +2 l/,/
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3. (8 points) Plot the data below on the grid provided for that purpose. Sketch a lme
- that you think provides a good fit to the data. :

. Explain why you drew the line where you did. '
e o @/ Show how to find an equation for the line you drew. Write out that equation. wa
Conplete the table by entering the V values determined by your line.
- Show how to use 'your equatlon to estimate predlcted values for vV when U=0 )
and whenU“ 15 m /
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4. (8 pomts) Consider the relatlonshlp expressed in the table below Assume the
observed pattern of differences continues mdeﬁmtely '

n 0 T 2 30 405 ﬁ 2 /
S 32 48 720108 | 162 | 243 3¢ /| SZe. 7S

Nﬁo,- | hea ;f 7 )’7 }/{ u V

a. Show how to calculate S and Sy.
U LK 2¥3E Be%l
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b. --'-.'erte a dlfference equat1on for the relatlonshlp between S, and n.

d.” Find-the- : eofnforwhmhs.,> 1000
/4N nzo. 157§ 7-/01:»&
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